



Some new common fixed point theorems for Geraghty contraction type maps in partial metric spaces

Hamid Faraji

Department of Mathematics, College of Technical and Engineering, Saveh Branch, Islamic Azad University, Saveh, Iran.

Abstract

In this paper, we prove some new common fixed point theorems for Geraghty type contraction mappings on partial metric spaces. Theorems presented are generalizations of fixed point theorems of Altun et al. [Generalized Geraghty type mappings on partial metric spaces and fixed point results, Arab. J. Math. **2**, (2013), no. 3, 247-253]. We also give some examples to illustrate the usability of the obtained results.

Keywords: Fixed point, Geraghty contraction, Partial metric space.

2010 MSC: 47H10, 54H25.

1. Introduction and Preliminaries

The notion of partial metric spaces (PMS) was initiated by Matthews [18, 19]. Subsequently, many authors established fixed point theorems on partial metric spaces. For more details, see [4, 6, 7, 9, 13, 15, 16, 17, 20, 21, 22, 23] and references contained therein.

Definition 1.1. [18] A mapping $p : X \times X \rightarrow [0, \infty)$ is called a partial metric on nonempty set X if the following conditions hold for all $x, y, z \in X$:

$$(P1) \quad x = y \text{ if and only if } p(x, x) = p(x, y) = p(y, y),$$

$$(P2) \quad p(x, x) \leq p(x, y),$$

$$(P3) \quad p(x, y) = p(y, x),$$

$$(P4) \quad p(x, y) \leq p(x, z) + p(z, y) - p(z, z).$$

Then, the pair (X, p) is called a partial metric space (PMS).

Email address: faraji@iau-saveh.ac.ir (Hamid Faraji)

For a partial metric p on X , the function $d_p : X \times X \rightarrow \mathbf{R}^+$ defined as

$$d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y), \quad x, y \in X, \tag{1.1}$$

is a metric on X . Each partial metric p on X generates a T_0 topology τ_p , whose base is a family of open p -balls $\{B_p(x, \varepsilon) | x \in X, \varepsilon > 0\}$, where $B_p(x, \varepsilon) = \{y \in X | p(x, y) \leq p(x, x) + \varepsilon\}$ for all $x \in X$ and $\varepsilon > 0$.

Definition 1.2. Let (X, p) be a partial metric space.

- (i) A sequence $\{x_n\}$ in the PMS (X, p) converges to $x \in X$ if and only if $\lim_{n \rightarrow \infty} p(x_n, x) = p(x, x)$.
- (ii) A sequence $\{x_n\}$ in the PMS (X, p) is called a Cauchy sequence if $\lim_{n, m \rightarrow \infty} p(x_n, x_m)$ exists (and finite).
- (iii) A PMS (X, p) is called complete if every Cauchy sequence $\{x_n\}$ in X converges with respect to τ_p to a point $x \in X$ such that $p(x, x) = \lim_{n, m \rightarrow \infty} p(x_n, x_m)$.

Lemma 1.3. [18, 19] Let (X, p) be a partial metric space.

- (i) A sequence $\{x_n\}$ is Cauchy sequence in a PMS (X, p) if and only if $\{x_n\}$ is Cauchy sequence in a metric space (X, d_p) .
- (ii) A PMS (X, p) is complete if and only if the metric space (X, d_p) is complete. Moreover,

$$\lim_{n \rightarrow \infty} d_p(x_n, x) = 0 \text{ if and only if } p(x, x) = \lim_{n, \infty} p(x_n, x) = \lim_{n, m \infty} p(x_n, x_m).$$

Lemma 1.4. [2] Let (X, p) be a partial metric space and $x_n \rightarrow x$ in a PMS (X, p) and $p(x, x) = 0$. Then $\lim_{n \rightarrow \infty} p(x_n, y) = p(x, y)$ for all $y \in X$.

Lemma 1.5. [2] Let (X, p) be a partial metric space. Then

- (1) If $p(x, y) = 0$, then $x = y$.
- (2) If $x \neq y$, then $p(x, y) > 0$.

Definition 1.6. [1] Let X be a non-empty set and $f, g : X \rightarrow X$ are given self-mappings on X . If $w = fx = gx$ for some $x \in X$, then x is called a coincidence point of f and g , and w is called a point of coincidence of f and g . Also, self-maps f and g are said to be weakly compatible if they commute at their coincidence point; that is, if $fx = gx$ for some $x \in X$, then $fgx = gfx$.

Lemma 1.7. [1] Let $f, g : X \rightarrow X$ be weakly compatible and f, g have a unique point of coincidence $w = fx = gx$, then w is the unique common fixed point of f and g .

In 1973, Geraghty [12] introduced a class of functions to generalize the Banach contraction principle. Let \mathcal{B} be the family of all functions $\alpha : [0, \infty) \rightarrow [0, 1)$ satisfying the property

$$\lim_{n \rightarrow \infty} \alpha(t_n) = 1 \text{ implies } \lim_{n \rightarrow \infty} (t_n) = 0.$$

Theorem 1.8. [12] Let (X, d) be a complete metric space. Let $T : X \rightarrow X$ be given mapping satisfying

$$d(Tx, Ty) \leq \alpha(d(x, y))d(x, y), \quad x, y \in X,$$

where $\alpha \in \mathcal{B}$. Then T has a unique fixed point.

In recent years, some authors extended the result of Geraghty in the context of various metric spaces(see [8, 10, 11, 14]). In 2013 Altun et al.[5] proved a version of Geraghtys theorem in partially metric spaces as follows.

Theorem 1.9. [5] Let (X, p) be a complete partial metric space and T be a self-mapping on X which satisfy,

$$p(Tx, Ty) \leq \beta(M(x, y)) \max\{p(x, y), p(x, Tx), p(y, Ty)\}, \tag{1.2}$$

for all $x, y \in X$, where $\beta \in \mathcal{B}$ and

$$M(x, y) = \max\{p(x, y), p(x, Tx), p(y, Ty), \frac{p(Tx, y) + p(x, Ty)}{2}\}.$$

Then T has a unique fixed common point in X .

2. Main Result

Now, we announce our first new result in this context.

Theorem 2.1. *Let (X, p) be a partial metric space and let the mappings $f, g : X \rightarrow X$ satisfy the condition*

$$p(gx, gy) \leq \beta(M(x, y))m(x, y), \quad \text{for all } x, y \in X, \tag{2.1}$$

where $\beta \in \mathcal{B}$ and

$$m(x, y) = \max\{p(fx, fy), p(fx, gx), p(fy, gy)\},$$

$$M(x, y) = \max\{p(fx, fy), p(fx, gx), p(fy, gy), \frac{p(fx, gy) + p(fy, gx)}{2}\}. \tag{2.2}$$

Suppose also that $g(X) \subset f(X)$ and $f(X)$ is a complete subspace of X . Then f, g have a unique point of coincident in X . Moreover if f and g are weakly compatible, then f and g have a unique common fixed point in X .

Proof. Let $x_0 \in X$ be arbitrary. Since $g(X) \subset f(X)$, inductively, we can define a sequence $\{x_n\}$ in X such that

$$fx_{n+1} = gx_n, \quad n = 0, 1, 2, \dots \tag{2.3}$$

Using (2.1) and (2.3) with $x = x_n$ and $y = x_{n+1}$, we get

$$p(fx_{n+1}, fx_{n+2}) = p(gx_n, gx_{n+1}) \leq \beta(M(x_n, x_{n+1}))m(x_n, x_{n+1}), \tag{2.4}$$

for all $n = 0, 1, 2, \dots$. Thus, by (2.2) and using (P4), we have

$$\begin{aligned} m(x_n, x_{n+1}) &= \max\{p(fx_n, fx_{n+1}), p(fx_n, gx_n), p(fx_{n+1}, gx_{n+1})\} \\ &= \max\{p(fx_n, fx_{n+1}), p(fx_{n+1}fx_{n+2})\} \\ &= \max\{p(fx_nfx_{n+1}), p(fx_{n+1}fx_{n+2})\}, \end{aligned}$$

for all $n = 0, 1, 2, \dots$. If $m(x_n, x_{n+1}) = p(fx_{n+1}, fx_{n+2})$, then from the inequality (2.4), we have

$$p(fx_{n+1}, fx_{n+2}) \leq \beta(M(x_n, x_{n+1}))p(fx_{n+1}, fx_{n+2}) < p(fx_{n+1}, fx_{n+2}),$$

which is a contradiction. Thus $m(x_n, x_{n+1}) = p(fx_n, fx_{n+1})$, so we have $p(fx_{n+1}, fx_{n+2}) \leq p(fx_n, fx_{n+1})$. Then $p(fx_n, fx_{n+1})$ is a nonincreasing sequence and hence it is convergent. Consequently, there exists $r \geq 0$ such that $\lim_{n \rightarrow \infty} p(fx_n, fx_{n+1}) = r$. We prove $r = 0$. Suppose, on the contrary, that $r > 0$. Then, we have

$$\frac{p(fx_{n+1}, fx_{n+2})}{p(fx_n, fx_{n+1})} \leq \beta(M(x_n, x_{n+1})) < 1.$$

Then $1 \leq \lim_{n \rightarrow \infty} \beta(M(x_n, x_{n+1})) \leq 1$, which implies $\lim_{n \rightarrow \infty} \beta(M(x_n, x_{n+1})) = 1$. Since $\beta \in \mathcal{B}$, we have $\lim_{n \rightarrow \infty} M(x_n, x_{n+1}) = 0$ and hence,

$$\lim_{n \rightarrow \infty} p(fx_{n+1}, fx_n) = 0. \tag{2.5}$$

From (1.1) and (2.5), we get $\lim_{n \rightarrow \infty} d_p(fx_{n+1}, fx_n) = 0$. We claim that fx_n is a Cauchy sequence in (X, d_p) . Suppose fx_n is not Cauchy sequence. Then there exists some $\varepsilon > 0$ for which we can find subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ with $n(k) > m(k) > k$ such that $d_p(fx_{m(k)}, fx_{n(k)}) \geq \varepsilon$. From (1.1), we have $\varepsilon \leq d_p(fx_{m(k)}, fx_{n(k)}) \leq 2p(fx_{m(k)}, fx_{n(k)})$. Without loss of generality, we can suppose that also

$$n(k) > m(k) > 0, \quad p(fx_{m(k)}, fx_{n(k)}) \geq \frac{\varepsilon}{2}, \quad p(fx_{m(k)}, fx_{n(k)-1}) < \frac{\varepsilon}{2}. \tag{2.6}$$

Using (2.6) and using (P4), we have

$$\begin{aligned} \frac{\varepsilon}{2} &\leq p(fx_{m(k)}, fx_{n(k)}) \\ &\leq p(fx_{m(k)}, fx_{m(k)-1}) + p(fx_{m(k)-1}, fx_{n(k)-1}) + p(fx_{n(k)-1}, fx_{n(k)}) \\ &\leq p(fx_{m(k)}, fx_{m(k)-1}) + p(fx_{m(k)-1}, fx_{m(k)}) + p(fx_{m(k)}, fx_{n(k)-1}) + p(fx_{n(k)-1}, fx_{n(k)}), \end{aligned}$$

for all $k > 1$. Letting $k \rightarrow \infty$ in above inequality and using (2.5), we get

$$\lim_{k \rightarrow \infty} p(fx_{m(k)-1}, fx_{n(k)-1}) = \frac{\varepsilon}{2}. \tag{2.7}$$

Also, by (P4), we have

$$p(fx_{m(k)-1}, fx_{n(k)}) \leq p(fx_{m(k)-1}, fx_{n(k)-1}) + p(fx_{n(k)-1}, fx_{n(k)}).$$

Letting $k \rightarrow \infty$ in the above inequality and using (2.5) and (2.7), we obtain

$$\lim_{n \rightarrow \infty} p(fx_{m(k)-1}, fx_{n(k)}) \leq \frac{\varepsilon}{2}. \tag{2.8}$$

Using (2.1), with $x = x_{m(k)-1}$ and $y = x_{n(k)-1}$, we get

$$\begin{aligned} p(fx_{m(k)}, fx_{n(k)}) &= p(gx_{m(k)-1}, gx_{n(k)-1}) \\ &\leq \beta(M(x_{m(k)-1}, x_{n(k)-1}))m(x_{m(k)-1}, x_{n(k)-1}), \end{aligned} \tag{2.9}$$

where, we have

$$m(x_{m(k)-1}, x_{n(k)-1}) = \max\{p(fx_{m(k)-1}, fx_{n(k)} - 1), p(fx_{m(k)-1}, gx_{m(k)-1}), p(fx_{n(k)-1}, gx_{n(k)-1})\}.$$

Letting $k \rightarrow \infty$ in relationship above and using (2.5-2.8), we obtain

$$\lim_{k \rightarrow \infty} m(x_{m(k)-1}, x_{n(k)-1}) \leq \frac{\varepsilon}{2}. \tag{2.10}$$

By using (2.9) and (2.10), we get

$$\frac{\varepsilon}{2} \leq \frac{\varepsilon}{2} \lim_{k \rightarrow \infty} \beta(M(x_{m(k)-1}, x_{n(k)-1})).$$

Then, we derive that, $1 \leq \lim_{k \rightarrow \infty} \beta(M(x_{m(k)-1}, x_{n(k)-1})) \leq 1$, and so $\lim_{k \rightarrow \infty} \beta(M(x_{m(k)-1}, x_{n(k)-1})) = 1$. Since $\beta \in \mathcal{B}$, we conclude that $\lim_{k \rightarrow \infty} p(fx_{m(k)-1}, fx_{n(k)-1}) = 0$, which is a contradiction with (2.7). Hence, we concluded that $\{fx_n\}$ is a Cauchy sequence in (X, d_p) . Since $(f(X), p)$ is complete, by Lemma 1.3, $(f(X), d_p)$ is complete. Then there exists $z \in f(X)$ such that

$$\lim_{n \rightarrow \infty} d_p(fx_n, z) = 0. \tag{2.11}$$

From the property (ii) in Lemma 1.3, we have $p(z, z) = \lim_{n \rightarrow \infty} p(fx_n, z) = \lim_{n, m \rightarrow \infty} p(fx_n, fx_m)$. From (P2) and using (2.5), we have

$$\lim_{n \rightarrow \infty} p(fx_n, fx_n) = 0. \tag{2.12}$$

Applying (1.1), we have

$$d_p(fx_n, fx_m) = 2p(fx_n, fx_m) - p(fx_n, fx_n) - p(fx_m, fx_m).$$

Letting $n, m \rightarrow \infty$ in the above inequality, using (2.11) and (2.12), we have $\lim_{n \rightarrow \infty} p(fx_n, fx_m) = 0$. Then, we have

$$p(z, z) = \lim_{n \rightarrow \infty} p(fx_n, z) = \lim_{n \rightarrow \infty} p(fx_n, fx_m) = 0.$$

Since $z \in f(X)$, we can find $t \in X$ such that $ft = z$. We prove that $gt = z$. From (2.1), we have

$$p(fx_n, gt) = p(gx_{n-1}, gt) \leq \beta(M(x_{n-1}, t))m(x_{n-1}, t), \quad n = 1, 2, 3, \dots, \tag{2.13}$$

where

$$m(x_{n-1}, t) = \max\{p(fx_{n-1}, ft), p(fx_{n-1}, gx_{n-1}), p(ft, gt)\}. \tag{2.14}$$

Letting $n \rightarrow \infty$ in (2.14) and using (2.5), we get $\lim_{n \rightarrow \infty} m(x_{n-1}, z) = p(z, gt)$. From (2.13) and using Lemma 1.4, we obtain $p(z, gt) \leq \lim_{n \rightarrow \infty} \beta(M(x_{n-1}, t))p(z, gt)$, which implies that

$$1 \leq \lim_{n \rightarrow \infty} \beta(M(x_{n-1}, t)) \leq 1.$$

By the property β , we have $\lim_{n \rightarrow \infty} M(x_{n-1}, t) = 0$, which yields $p(z, gt) = 0$, that is $ft = gt = z$. Hence t is a coincidence point and z is a point of coincidence of f and g . Now we show that f and g have a unique point of coincidence. For this, assume that there exists another point q in X such that $z_1 = fq = gq$. Suppose, to the contrary, $p(z, z_1) > 0$. Using (2.1), we have

$$p(z, z_1) = p(gt, gq) \leq \beta(M(t, q))m(t, q),$$

where $m(t, q) = \max\{p(ft, fq), p(ft, gt), p(fq, gq)\} = p(z, z_1)$. Then, we get

$$p(z, z_1) \leq \beta(M(t, q))p(z, z_1) < p(z, z_1),$$

which is a contradiction and hence $p(z, z_1) = 0$ and we get that $z = z_1$. Therefore, z is the unique point of coincidence of f and g . Now, if f and g are weakly compatible then by Lemma 1.7, z is the unique common fixed point of f and g . □

If we take $fx = x$ for all $x \in X$, in Theorem 2.1, we obtain the following result.

Corollary 2.2. [5] *Let (X, p) be a complete partial metric space and let $g : X \rightarrow X$ be a mapping such that*

$$p(gx, gy) \leq \beta(M(x, y)) \max\{p(x, y), p(x, gx), p(y, gy)\},$$

for all $x, y \in X$, where $\beta \in \mathcal{B}$ and

$$M(x, y) = \max\{p(x, y), p(x, gx), p(y, gy), \frac{p(x, gy) + p(y, gx)}{2}\}.$$

Then g has a unique fixed point.

Corollary 2.3. *Let (X, p) be a complete partial metric space and let $g : X \rightarrow X$ be a mapping such that*

$$p(gx, gy) \leq \beta(M(x, y))p(x, y),$$

for all $x, y \in X$, where $\beta \in \mathcal{B}$ and

$$M(x, y) = \max\{p(x, y), p(x, gx), p(y, gy), \frac{p(x, gy) + p(y, gx)}{2}\}.$$

Then g has a unique fixed point.

Example 2.4. Let $X = [0, \infty)$ and $p : X \times X \rightarrow [0, \infty)$ be given as $p(x, y) = \max\{x, y\}$. Let $f, g : X \rightarrow X$ be defined respectively as $fx = e^x - 1, gx = \frac{e^x - 1}{x + 3}$ and $\beta(t) = \frac{1}{2}$. Suppose $0 \leq x < y$, then we have

$$m(x, y) = \max\{\max\{e^x - 1, e^y - 1\}, \max\{e^x - 1, \frac{e^x - 1}{x + 3}\}, \max\{e^y - 1, \frac{e^y - 1}{y + 3}\}\} = e^y - 1,$$

and

$$\begin{aligned} p(gx, gy) &= \max\{\frac{e^x - 1}{x + 3}, \frac{e^y - 1}{y + 3}\} \leq \frac{e^y - 1}{2} \\ &= \beta(M(x, y))m(x, y). \end{aligned}$$

Then the conditions of Theorem 2.1 are satisfied and f, g have a unique common fixed point.

Theorem 2.5. Let (X, p) be a complete partial metric space and T, S be self-mappings on X which satisfy,

$$p(Tx, Sy) \leq \beta(M(x, y))m(x, y), \quad \text{for all } x, y \in X, \tag{2.15}$$

where $\beta \in \mathcal{B}$ and

$$\begin{aligned} m(x, y) &= \max\{p(x, y), p(Tx, x), p(y, Sy)\}, \\ M(x, y) &= \max\{p(x, y), p(Tx, x), p(y, Sy), \frac{p(Tx, y) + p(x, Sy)}{2}\}. \end{aligned}$$

Then T and S have a unique common fixed point in X .

Proof. Let $x_0 \in X$ and consider the sequence $\{x_n\}$ in which $x_{2n+1} = Sx_{2n}$ and $x_{2n+2} = Tx_{2n+1}$ for all $n = 0, 1, 2, \dots$. If n is odd, for all $n = 0, 1, 2, \dots$, we have

$$p(x_{n+1}, x_{n+2}) = p(Tx_n, Sx_{n+1}) \leq \beta(M(x_n, x_{n+1}))m(x_n, x_{n+1}), \tag{2.16}$$

where

$$\begin{aligned} m(x_n, x_{n+1}) &= \max\{p(x_n, x_{n+1}), p(x_n, Tx_n), p(x_{n+1}, Sx_{n+1})\} \\ &= \max\{p(x_n, x_{n+1}), p(x_n, x_{n+1}), p(x_{n+1}, x_{n+2})\} \\ &= \max\{p(x_n, x_{n+1}), p(x_{n+1}, x_{n+2})\}. \end{aligned}$$

Suppose $m(x_n, x_{n+1}) = p(x_{n+1}, x_{n+2})$. Since $\beta \in \mathcal{B}$, from (2.16), we have $p(x_{n+1}, x_{n+2}) < p(x_{n+1}, x_{n+2})$, which is a contradiction. Thus $m(x_n, x_{n+1}) = p(x_n, x_{n+1})$, so we have $p(x_{n+1}, x_{n+2}) \leq p(x_n, x_{n+1})$. Similarly, we can also prove that $p(x_{n+1}, x_{n+2}) \leq p(x_n, x_{n+1})$ holds for case that n is even. Thus $p(x_n, x_{n+1})$ is a nonincreasing sequence and hence it is convergent. Hence, there exists $r \geq 0$ such that $p(x_n, x_{n+1}) \rightarrow r$. Next, we claim that $r = 0$. Assume on the contrary that $r > 0$. From (2.16), we have

$$\frac{p(x_{n+1}, x_{n+2})}{p(x_n, x_{n+1})} \leq \beta(M(x_n, x_{n+1})) < 1.$$

Which shows $\lim_{n \rightarrow \infty} \beta(M(x_n, x_{n+1})) = 1$. Since $\beta \in \mathcal{B}$, we have

$$\lim_{n \rightarrow \infty} p(x_n, x_{n+1}) = 0. \tag{2.17}$$

Using (1.1) and (2.17), we get $\lim_{n \rightarrow \infty} d_p(x_{n+1}, x_n) = 0$. Now, we claim that x_n is a Cauchy sequence in (X, d_p) . It suffices to show that $\{x_{2n}\}$ is a Cauchy sequence. Suppose that $\{x_{2n}\}$ is not a Cauchy sequence. Then there exists some $\varepsilon > 0$ for which we can find subsequences $\{x_{2m(k)}\}$ and $\{x_{2n(k)}\}$ of $\{x_{2n}\}$ such that $n(k)$ is the smallest index for $m(k) > n(k) > k$ such that $d_p(x_{2n(k)}, x_{2m(k)}) \geq \varepsilon$. From (1.1), we obtain $\varepsilon \leq d_p(x_{2n(k)}, x_{2m(k)}) \leq 2p(x_{n(k)}, x_{m(k)})$. Without loss of generality, we can suppose that also

$$n(k) > m(k) > 0, \quad p(x_{2n(k)}, x_{2m(k)}) \geq \frac{\varepsilon}{2}, \quad p(x_{2n(k)}, x_{2m(k)-2}) < \frac{\varepsilon}{2}. \tag{2.18}$$

Using (2.18) and (P4), we have

$$\begin{aligned} \frac{\varepsilon}{2} &\leq p(x_{2n(k)}, x_{2m(k)}) \leq p(x_{2n(k)}, x_{2n(k)+1}) + p(x_{2n(k)+1}, x_{2m(k)}) \\ &\leq p(x_{2n(k)}, x_{2n(k)+1}) + \beta(M(x_{2m(k)-1}, x_{2n(k)}))m(x_{2m(k)-1}, x_{2n(k)}), \end{aligned} \tag{2.19}$$

where

$$\begin{aligned} m(x_{2m(k)-1}, x_{2n(k)}) &= \max\{p(x_{2m(k)-1}, x_{2n(k)}), p(x_{2m(k)-1}, Tx_{2m(k)-1}), p(x_{2n(k)}, Sx_{2n(k)})\} \\ &\leq \max\{p(x_{2m(k)-1}, x_{2m(k)-2}) + p(x_{2m(k)-2}, x_{2n(k)}) \\ &\quad , p(x_{2m(k)-1}, x_{2m(k)}), p(x_{2n(k)}, x_{2n(k)+1})\}. \end{aligned}$$

Using (2.17) and (2.18), we get, $\lim_{k \rightarrow \infty} m(x_{2m(k)-1}, x_{2n(k)}) \leq \frac{\varepsilon}{2}$. Then, letting $n \rightarrow \infty$, from (2.19) we have $\frac{\varepsilon}{2} \leq \lim_{k \rightarrow \infty} \beta(M(x_{2m(k)-2}, x_{2n(k)}))\frac{\varepsilon}{2}$, which implies that $1 \leq \lim_{k \rightarrow \infty} \beta(M(x_{2m(k)-2}, x_{2n(k)})) < 1$. Since $\beta \in \mathcal{B}$, we have $\lim_{k \rightarrow \infty} M(x_{2m(k)-2}, x_{2n(k)}) = 0$, which yields $\lim_{k \rightarrow \infty} p(x_{2m(k)-1}, x_{2n(k)}) = 0$. Using (P4), we have

$$p(x_{2n(k)}, x_{2m(k)}) \leq p(x_{2n(k)}, x_{2m(k)-1}) + p(x_{2m(k)-1}, x_{2m(k)}).$$

Letting $k \rightarrow \infty$, and using (2.17), we have $\lim_{k \rightarrow \infty} p(x_{2n(k)}, x_{2m(k)}) = 0$ which is a contradiction to (2.18). Hence $\{x_n\}$ is a Cauchy sequence in (X, d_p) . Since (X, p) is complete, by Lemma 1.3, (X, d_p) is complete. Then there exists $z \in X$ such that

$$\lim_{n \rightarrow \infty} d_p(x_n, z) = 0. \tag{2.20}$$

From the property (ii) in Lemma 1.3, we have $p(z, z) = \lim_{n \rightarrow \infty} p(x_n, z) = \lim_{n, m \rightarrow \infty} p(x_n, x_m)$. By the property (P2) and using (2.17), we have $\lim_{n \rightarrow \infty} p(x_n, x_n) = 0$. Using (1.1) and (2.20), we obtain $\lim_{n \rightarrow \infty} p(x_n, x_m) = 0$. Then, we have $p(z, z) = \lim_{n \rightarrow \infty} p(x_n, z) = \lim_{n \rightarrow \infty} p(x_n, x_m) = 0$. We assert that $Tz = z$. Assume on the contrary that $p(Tz, z) = \varepsilon$ and $\varepsilon > 0$. From (2.15), we have

$$p(Tz, Sx_{2n}) \leq \beta(M(z, x_{2n}))m(z, x_{2n}), \tag{2.21}$$

where $m(z, x_{2n}) = \max\{p(z, x_{2n}), p(Tz, z), p(x_{2n}, Sx_{2n})\}$. Again, taking limit as $n \rightarrow \infty$ in (2.21) and using Lemma 1.4, we obtain $\varepsilon \leq \varepsilon \lim_{n \rightarrow \infty} \beta(M(z, x_{2n})) < 1$. Since $\beta \in \mathcal{B}$, we get $\lim_{n \rightarrow \infty} M(z, x_{2n}) = 0$, consequently $p(z, Tz) = 0$ and so $Tz = z$. Similarly, we can prove that $Sz = z$. For the uniqueness, suppose that $Tw = Sw = w$ and $z \neq w$. From (2.15), we have $p(z, w) = p(Tz, Sw) \leq \beta(M(z, w))m(z, w)$, where

$$m(z, w) = \max\{p(z, w), p(z, Tz), p(w, Sw)\} = p(z, w).$$

Then $1 \leq \beta(M(z, w)) \leq 1$. Now, as $\beta \in \mathcal{B}$ we conclude that $M(z, w) = 0$, consequently, $P(z, w) = 0$ and we get that $z = w$. □

In theorem 2.5, if $T = S$ is on X , then, we obtain the following result. Following corollary is Theorem 1.9 due to Altun and Sadarangani [5].

Corollary 2.6. [5] *Let (X, p) be a complete partial metric space and T be a self-mapping on X which satisfy,*

$$p(Tx, Ty) \leq \beta(M(x, y)) \max\{p(x, y), p(x, Tx), p(y, Ty)\},$$

for all $x, y \in X$, where $\beta \in \mathcal{B}$ and

$$M(x, y) = \max\{p(x, y), p(x, Tx), p(y, Ty), \frac{p(Tx, y) + p(x, Ty)}{2}\}.$$

Then T has a unique fixed point in X .

Example 2.7. Let $X = [0, \infty)$ and $p : X \times X \rightarrow [0, \infty)$ be defined as follows: $p(x, y) = \max\{x, y\}$. Then (X, p) is a complete partial metric space. Define the mappings $T, S : X \rightarrow X$ by $Tx = \frac{x}{5}, Sx = \frac{x}{3}$ and set $\beta(t) = \frac{1}{2}$. Suppose $0 \leq x < y$, Then, we have

$$p(Tx, Sy) = \max\left\{\frac{x}{5}, \frac{y}{3}\right\} \leq \frac{y}{2} = \beta(M(x, y))m(x, y),$$

and

$$p(Ty, Sx) = \max\left\{\frac{y}{5}, \frac{x}{3}\right\} \leq \frac{y}{2} = \beta(M(x, y))m(x, y),$$

where $m(x, y) = y$. Then the conditions of Theorem 2.5 are satisfied.

References

- [1] M. Abbas, G. Jungck, *Common fixed point results for noncommuting mappings without continuity in cone metric spaces*, J. Math. Anal. Appl. **341**(1) (2008), 416-420. [1.6](#), [1.7](#)
- [2] T. Abdeljawad, E. Karapinar, K. Tas, *Existence and uniqueness of a common fixed point on partial metric spaces*, Appl. Math. Lett. **24** (2011), no. 11, 1900-1904. [1.4](#), [1.5](#)
- [3] R. P. Agarwal, P. Ravi, M. A. Alghamdi, N. Shahzad, *Fixed point theory for cyclic generalized contractions in partial metric spaces*, Fixed Point Theory Appl. **2012** (2012), 40, 11 pp.;
- [4] A. Aghanians, K. Fallahi, K. Nourouzi, D. O'Regan, *Some coupled coincidence point theorems in partially ordered uniform spaces*. Cubo **16** (2014), no. 2, 121-134. [1](#)
- [5] I. Altun, K. Sadarangani, *Generalized Geraghty type mappings on partial metric spaces and fixed point results*, Arab. J. Math. **2** (2013), no. 3, 247-253. [1](#), [1.9](#), [2.2](#), [2](#), [2.6](#)
- [6] I. Altun, F. Sola, H. Simsek, *Generalized contractions on partial metric spaces*, Topology Appl. **157** (2010), no. 18, 2778-2785. [1](#)
- [7] H. Aydi, M. Abbas and C. Vetro, *Partial Hausdorff metric and Nadler's fixed point theorem on partial metric spaces*. Topology . Appl. **159** (2012), no. 14, 3234-3242. [1](#)
- [8] P. Charoensawan, *Common fixed point theorems for Geraghty's type contraction mapping with two generalized metrics endowed with a directed graph in JS-metric spaces*, Carpathian J. Math. **34** (2018), no. 3, 305-312. [1](#)
- [9] Lj. Cirić, *Some recent results in metrical fixed point theory*, Beograd, (2003). [1](#)
- [10] B. Deshpande, A. Handa, *Utilizing isotone mappings under Geraghty-type contraction to prove multidimensional fixed point theorems with application*. J. Korean Soc. Math. Educ. Ser. B Pure Appl. Math. **25** (2018), no. 4, 279-295. [1](#)
- [11] H. Faraji, D. Savić and S. Radenović, *Fixed point theorems for Geraghty contraction type mappings in b-metric spaces and applications*, Axioms, **8**(34), (2019), 12 pages. [1](#)
- [12] M. A. Geraghty, *On contractive mappings*, Proc. Amer. Math. Soc. **40** (1973), 604-608. [1](#), [1.8](#)
- [13] R. H. Haghi, SH. Rezapour, N. Shahzad, *Be careful on partial metric fixed point results*. Topology Appl. **160** (2013), no. 3, 450-454. [1](#)
- [14] H. Huang, L. Paunović, S. Radenović, *On some new fixed point results for rational Geraghty contractive mappings in ordered b-metric spaces*. J. Nonlinear Sci. Appl. **8** (2015), no. 5, 800-807. [1](#)
- [15] Z. Kadelburg, H. K. Nashine, S. Radenović. *Fixed point results under various contractive conditions in partial metric spaces*. Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM **107** (2013), no. 2, 241-256. [1](#)
- [16] W. Kirk, N. Shahzad, *Fixed point theory in distance spaces*, Springer, (2014). [1](#)
- [17] W. Long, S. Khaleghizadeh, P. Salimi, S. Radenović, S. Shukla, *Some new fixed point results in partial ordered metric spaces via admissible mappings*. Fixed Point Theory Appl. **2014** (2014):117, 18 pp.
- [18] S. G. Matthews, *Partial metric topology*, Research Report 212, Dept. of Computer Science, University of Warwick, (1992). [1](#)
- [19] S. G. Matthews, *Partial metric topology*, Papers on general topology and applications (Flushing, NY, 1992), 183-197, Ann. New York Acad. Sci., 728, New York Acad. Sci., New York, (1994). [1](#), [1.1](#), [1.3](#)
- [20] S. Oltra, O. Valero, *Banach's fixed point theorem for partial metric spaces*, Rend. Istit. Mat. Univ. Trieste **36** (2004), no. 1-2, 17-26. [1](#), [1.3](#)
[1](#)
- [21] S. Radenović, *Coincidence point results for nonlinear contraction in ordered partial metric spaces*, J. Indian Math. Soc. (N.S.) **81** (2014), no. 3-4, 319-333. [1](#)
- [22] B. Samet, *Existence and uniqueness of solutions to a system of functional equations and applications to partial metric spaces*, Fixed Point Theory **14** (2013), no. 2, 473-481. [1](#)
- [23] O. Valero, *On Banach fixed point theorems for partial metric spaces*. Appl. Gen. Topol. **6** (2005), no. 2, 229-240. [1](#)